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Graph the function and label the following information. Horizontal Asvmptotes can include slant asymptotes.
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Write a rational function with the given characteristics.
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5 There are no zeros, a hole exists at x = —3/2, vertical asymptote is at x = 1, and horizontal asymptote is at y = 0.
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6. There is a zexo at 6, a hole exists at x =

-3, no vertical asymptotes, and horizontal asymptote atge==—tx
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7. Ehe #eros are at —1 and 3 and the vertical asymptote is at x = 0.
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8. The zero is at 2, vertical asymptote is at x = -2 and x = 0, and horizontal asymptote is at y = 0.
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Match the following graphs with the equation _
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